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2 % 16.036 + 7.6 T Fo] ThE A2 o AJY7R?

D 160.36 ~ 76 @ 1.6036 +0.76
® 1603.6 = 760 @1603.6 +76
® 0.16036 + 0.076

16.036 = 7.6 = 160.36 = 76 ©] 1L
@ 1603.6 ~ 7.6 = 16036 ~ 76 °]O.2 Zo| t}2r},
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ohg YA FolA 17k 2 e ol AYUAR

O 7F=2 5cm, A2 5cem, 0] 5em ¢ ASHA
@ 7F2 9cm, A2 4cm, =°] 3cm QA ASHA
@7}1?._ 5.5cm, A2 6cm, =°] 4cm Q] 2-EHA
@ 7I2 4cm, A2 4cm, =°] 6cm Q 2S5 HA

® 712 12cm, A2 3cm, =°] 2.5cm Sl A-SHA

B

@D 5x5x5=125(cm?)
@ 9x4x3=108(cm?)
® 5.5%x 6 x4 =132(cm?)
@ 4x4x6=096(cm?)
® 12x3x2.5=90(cm?)
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wel

(BR9] Zo)= (4t 2] Hol)x2+(¥&°])
= 65.31x2+12.44 = 130.62+12.44
= 13062 + 1244 = 10.5(cm)
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114 + 1.5 = 76(km)

198 + 2.75 = 72(km)
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12.5%

0.125 - 12.5%
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13. o227 AEdYe. of AE AAl9] Wole B em?
AA] F5HA 2.

\
10cm
1

U] Ho] @ 8x6x2 = 96(cm?)
HHO] Hlo] 1 10x (6+ 8+ 6+ 8) = 280( cm?)
— 96 + 280 = 376( cm?)
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> HE D 60.69cm
% ZA FE-L shte] fo] Hyek
(B9 do]) = (17x2) + (8.5 x 3.14)
= 34 + 26.69
= 60.69( cm)
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